Fifth Annual Intermediate/Advanced Tragedy

@3 CAMWS College Greek Exam (2021) @m
TIME: 50 MINUTES DO NOT USE A DICTIONARY

Mark the correct choice ON YOUR ANSWER SHEET. There is only one correct answer/choice for each
question. Choose the BEST POSSIBLE ANSWER.

SEPARATE THE PAGES WITH THE PASSAGE AND CONSULT THEM AS YOU TAKE THE EXAM.

1. Inline 386, teOpimmoug is best translated as
a) four-horse. c) of well-fed horses.
b) horse-rich. d) set upon by horses.

2. In lines 386-387, the phrase ITicav kata indicates
a) against whom the action is done. ¢) where the action occurs.
b) when the action occurs. d) why the action occurs.

3. Inlines 386-387, it is said that Pelops once
a) defeated Oinomaus in a chariot race.
b) competed against Oinomaus in a chariot race.
c) competed together with Oinomaus against others in a chariot race.
d) quarreled with Oinomaus over the results of a chariot race.

4. In line 388, the construction wqeAeg with the infinitive expresses a(n)
a) command. c) purpose clause.
b) indirect statement. d) wish.

5. In lines 388-389, we learn that Pelops
a) had been persuaded to invite the gods to a banquet.
b) had persuaded the gods to invite him to a banquet.
c) would be persuaded to invite the gods to a banquet.
d) would persuade the gods to invite him to a banquet.

6. In line 389, the phrase Airtetv Bilov in line 389 is most closely synonymous with

a) ammoBavelv. C) AmMoAéoal.
b) amoxktetvat d) Brovv.
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7. The motv in line 390, may best be translated as
a) after. ¢) until.
b) before. d) when.

8. The O¢ in line 391 has as its antecedent
a) the implied subject of ¢moleic. c) Atoéa.
b) Biov. d) Ayapéuvov'.

9. The main caesura in line 391 is between
a) 0 eE€puoev. ) Aepdmng Aéktowv.
b) é€épuoev Aeomng. d) Aéxtowv aro.

10. Inline 392, the word Cuydv is etymologically related to
a) zagging. c) zeal.
b) zany. d) zeugma.

11. In line 393, the word mA¢tlotov is a
a) comparative adjective. c) superlative adjective.
b) comparative adverb. d) superlative adverb.

12. In line 393, the parenthetical statement kot 160" 00 kOUTW Aéyw suggests
a) concern. ¢) humility.
b) hubris. d) uncertainty.

13. In line 394, the word wwmr) exemplifies the figure of speech called
a) litotes. c) synecdoche.
b) metonymy. d) transferred epithet.

14. In line 395, the case and use of ovd¢V are
a) adverbial accusative. c) accusative object of tpoc.
b) accusative direct object. d) accusative absolute.

15. In lines 395-396, Menelaus emphasizes that the voyage to Troy
a) had no leader. c) was well-attended.
b) was dangerous. d) was voluntary.

16. The mtapa in line 397 may best be translated as

a) from. c) it is possible.
b) I am present. d) to.
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In line 398, the tense and voice of mepevyotac are
a) aorist active. c) perfect middle.
b) perfect active. d) present active.

The contrast expressed by toUg pev and Toug 8 in lines 397-398 is between
a) those who died in the war and those who returned home alive.
b) those who were against the war and those who were for it.
c) those who survived the war and those who perished at sea.
d) those who were men of worth and those who were cowards.

What action is being described in line 3997
a) Bringing the corpses of the dead back home
b) Burying the dead a second time in their own houses
c) Reporting the names of the dead to their countrymen
d) Warning the inhabitants that bodies will be brought back

In line 399, the resolution of a long syllable into two short syllables is found in
a) the first metron. ¢) the third metron.
b) the second metron. d) none of the metra.

The dAwpat in line 401 is a contracted form of
a) dAaopadt. ) &Adouat
b) dAéopat. d) aAwopat.

In line 402, the word xor)CwvV is being used as a(n)
a) circumstantial participle.
b) finite verb to which poAetv is the complementary infinitive.
¢) genitive absolute.
d) impersonal verb with poAetv as its subject.

In lines 402-403, we learn that Menelaus believes that
a) he may be better off assuming the throne of another kingdom.
b) he ought not wish to return home in his present condition.
c) it would be provident if he chanced upon someone.
d) the gods do not deem him worthy to return home.

In line 404, the word ¢prjpovg is etymologically related to

a) emirate. ¢) hermetic.
b) eremigate. d) hermit.
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The &&évoug in line 404 agrees with
a) £TOQOMAG. c) Aipune.
b) éonjpovc. d) all of the above.

In line 405, the form yxwtav is an example of
a) aphaeresis. ¢) elision.
b) crasis. d) synizesis.

In line 405, the word @ is a(n)
a) nominative dual definite article. c) present active participle.
b) interjection. d) subjunctive verb.

In lines 405-406, Menelaus says that
a) a wind blows him off-course whenever he approaches his homeland.
b) he has been knocked unconscious every time he approached his homeland.
c) he has ended up back at Troy on multiple occasions.
d) he has never been able to approach his homeland.

In line 407, the subject of the infinitive poAetv is
a) Aaigoc. C) TATOAV.
b) u'. d) mvevpua.

In line 408, Menelaus is described as
a) friendless. c) shipwrecked.
b) miserable. d) all of the above.

In lines 409-410, we learn that
a) Menelaus’ ship was broken by rocks into numerous pieces.
b) numerous rocks destroyed Menelaus’ ships.
c) numerous ships have been destroyed by nearby rocks.
d) numerous shipwrecks have befallen Menelaus.

The first principal part of é0cwOnv in line 412 is

a) eloet. C) oevw.
b) elotnut d) oCw.
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In line 412, &veAmiotw toXn is a dative of
a) advantage. ¢) means/instrument.
b) indirect object. d) respect.

In line 413, with regard to his relationship with Helen, Menelaus mentions his
a) fears that he would never recover her from Troy.
b) longing for her while he fought in the Trojan War.
c) recovery of her from Troy.
d) wish to destroy Troy for the sake of her.

In lines 414-415, Menelaus says that he
a) is entirely unfamiliar with where he is.
b) is not sure exactly where he is, but has seen a few people he knows.
c) is quite familiar with where he is.
d) recognizes the land, but does not know the inhabitants.

In line 415, the tense of the verb fjoxvvéunyv is
a) aorist. C) present.
b) imperfect. d) pluperfect.

In line 416, ®o0’ introduces what type of clause?
a) effort c) result
b) purpose d) temporal

What is the case function of the genitive tn¢ T0Oxn¢ in line 4177
a) material c) subjective
b) objective d) whole/partitive

The Helen was first staged at an Athenian festival in honor of
a) Athena. c¢) Dionysus.
b) Aphrodite. d) Poseidon.

The part of the Helen from which Menelaus’” speech comes is called the

a) episode. c) parodos.
b) exodos. d) stasimon.
TEAOX
THE END
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NOTE: Vocabulary help appears underneath the Greek word(s). Proper nouns and adjectives are glossed
at the end of the passage.

In Euripides’ Helen, Menelaus bemoans the fact that he has washed ashore in Egypt after suffering a shipwreck.

w tog tefpinmovg Otvopaw IMicav kdta 386
[TéAoy apirdac EEapiAAnBOeic mote, 387
1) &AAa: contest

eEauAddopar: struggle in (+acc.)
el0’ wpedec 100’ —1 ik’ éoavov eig Beolg 388

0 égavog: feast

nteloOelg émoleig—év Oeoic Aumelv Bilov, 389
TOLV TOV €UOV AToéa matéQa Yevvnoal mote — 390
0c éEépuoev Agpdmng AékTowV ATIo— 391

éx@Uw: sire, beget
Ayapépvov’ éué te Mevédewv, kAetvov Cuyov: 392
TO Cuyov: pair
TIAELOTOV YAQ OlHAL—KAL TOD 0V KOUTIW Aéyw — 393
oteAtevpa kTt dtoploat Teolav €my, 394
TO OTQATEVUA: army
1] K@M): oar

dlogiCw: carry, bring
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TVEAVVOG 0VOEV TIROG Plary oTEATNAAT@Y, 395
gtoatnAatéw: being a commander

éxovot O’ apéac EAAG&dOg veaviais. 396
ékwv, éxovoa, éxov: willingly

KAl TOUG HEV OUKET OvTtag agliunoat maoa, 397

a1Opéw: reckon
o006 O’ £k OaA&oONC AOHEVOUS TTeeLYOTAC, 398
&opevog, 1), ov: glad
VEKQWV PEQOVTAG OVOUAT ELG OlkOLG TIAALV. 399
yw 0’ T’ oldpa TOVTIOV YAAUKTG AAOG 400
70 oidpa: swell yAavkog, 1], Ov: gleaming
1 &Ag, aAAdg: sea
TANHWV dA@paL xpovov doovre TAlov 401
TOQYOULG ETEQO R, KAG TIATOAV XONLwV HOAELY 402
0 mMVEYOG: tower KA =Kal €ig XN lw: lack
oUKk a&lovpat Tovde EOS DewV TUXELV. 403
TOVOE = TOLOE VOOTOU
APUNG T €orjpoug AEEVOLS T  ETOQOHAG 404
1) éonpog: desert 1] émdopn: landing, anchorage, wharf

TEMAEVKA TATAS" XWOTAV EYYUS O TATOAG, 405

xwTav = kat 6tav
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TAAWY Y dntwBel mMveDUA, KOVTOT OVQELOV 406
anwOéw: push back ovglog, «, ov: fair, favorable
€onADe Aalpoc WoTe U €C MATEAV HOAELV. 407

TO Aaiog: sail
KAL VOV TAAAG vavaryog &ToAéoag ptAoug 408
vavayog, ov: shipwrecked
EE€meoOV € YNV THVOE" VDG OE TIROG TETOAS 409
TIOAAOUG &QLOHOLG AyvuTtal vavayiwv. 410
MOAAOVG &QLOU0UG = £l TOAAOVG AQLOpOUG
ayvuout: break

TO vavaylov: piece of wreckage

TEOTIC O’ €AelON MOKIAWY AQHOTUATWY, 411
1) TeOTIG: keel TO Aguooua: joined pieces of wood
£’ 1¢ €0wONV HOALS AveAmioTw TOXN 412

avéAmniotog, ov: unhoped for
‘EAévn te, Toolag v amoomdoag éxw. 413

ATIOOTIAW: tear

dvopa d¢ xawoag Ntig o€ kat Aewg 414
Aewg = Aaovg
OVK 0lda" OXAOV YOQ €0TIETELY YOXVVOUNV 415

OxAov = €ig OxAov
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o0’ lotopnoatl, Tag Epag dvoxAawviag 416
11 dvoxAawvia: shabby clothes

KQUTT@V UTT aldovG TG TUXTG. 417

Proper Nouns and Adjectives

Ayapéuvwv, -ovog, 0: Agamemnon AegQom), -116, 1): Aerope
AtQevg, -éwg, O: Atreus ‘EAévn), -ng, 1]: Helen

‘EAAAg, -adog, 1): Greece "TAtov, -ov, to: Ilion, Troy
MevéAdewg, -ew, 0: Menelaus Oivéuaog, -ov, 6: Oenomaus
ITéAo, -omog, 0: Pelops IMioa, -ng, 1): Pisa

Tooiq, -ag, 1): Troy



